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Senator CONROY asked:

What would be the implications for the telecommunications access regimeif Telstra’ slitigation
was successful?

Mr Samuel—I do not think it is appropriate to comment on that, given that this is before the High
Court at the moment. | think we need to await the adjudication of the High Court before we deal
with that. As | indicated in my opening statement, we treat the current legislation as being valid.
Wewill operate under the current legislation asif it isvalid. If it istermed to be invalid then we
will deal with that at the time, as no doubt will parliament.

Senator CONROY —Y ou must have a general view about how it would impact on the access
regime. Telstra are obviously saying it has got to throw it out. What impact would that have on the
regulatory regime?

Mr Samuel—We will have to take that on notice. | do not think we have given it much
consideration, which is not to say that we are treating the High Court case lightly, but | think we

have more significant matters to deal with in the context of the administration of parts 11B and
11C than the current High Court challenge.

Answer:

It would be inappropriate to comment further on a matter before the court.





